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make sure the bass is below the chord:
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rh plays shells (3rd and 7th) and lh plays bass notes
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Exercises for practicing 2 5 1s
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2 2-5-1 in major key
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2-5-1 in minor key continue with 251 in Db, B, A then G
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Cycle of 4ths, m7
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Cycle of 4ths, m7
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Cycle of 4ths, M7
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Cycle of 4ths, M7
46 Abmaj7 Dpmaj7  Gpmaj7 Bmaj7 Emaj7  Amaj7 Dmaj7 Gmaj7  Cmaj7 Fmaj7  RBpmaj7 Epmaj7
‘} heo b . .
1 1 T~ # ) "
y AN/ &) i) 2 Lt =~ -1 e, e, = =
[ fan W 8 — A ) # = ik 2, 2, =
<Y iy - I, 2] = =
[y ' i o o
b ba | 7, |
o 1) 77 ] = |
) z = ] 2 . 1)
y .4 = () | b~ |
| | - |




Cycle of 4ths, 7 3
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Cycle of 4ths, 7
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Cycle of 4ths, m7 7
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Cycle of 4ths, m7 7
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2-5-1 in major key around the cycle of fiths
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continue with 251 in G, D, A, E, B, F#, Db, Ab, Eb, Bb

2-5-1 in minor key around the cycle of fiths
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continue with 251 in G, D, A, E, B, F#, Db, Ab, Eb, Bb

For each of exercise also practice starting with the 7th and 3rd instead of 3rd and 7th in the rh!



